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000M* +nH,0-> [M(H,0)]*000000000000 (kea/mol)?

M =K M = Na

6-31G* 6-31+G*  6-31++G**  Exp. 6-31G* 6-31+G*  6-31++G**  Exp.

1 -21.5 -18.2 -17.7 -17.9 -30.6 -25.7 -25.1 -24.0
-18.5 -17.8 -17.4 -27.2 -24.6 -24.3

2 -40.1 -33.6 -32.7 -34.0 -57.4 -47.9 -46.8 -43.8
-34.0 -32.8 -32.1 -50.5 -45.4 -44.9

3 -57.6 -47.9 -46.2 -47.2 -80.0 -66.1 -64.5 -59.6
-48.2 -45.9 -44.8 -69.3 -62.4 -61.7

4 -75.9 -60.7 -58.8 -50.0 -08.1 -81.0 -78.6 -73.4
-61.0 -57.6 -56.3 -83.8 -75.5 -74.7

5 -93.5 -73.9 -70.6 -69.7 -115.1 -94.4 -91.7 -85.7
-73.9 -67.8 -66.4 -97.2 -87.5 -86.5

6 -110.2 -87.1 -83.1 -719.7 -134.1 -107.9 -104.4 -96.4
-86.8 -79.5 -77.5 -110.1 -99.0 -97.8

40 0 B3LYP, O 0O B3LYP + counterpoise

000[MH0)]'000000000000®

M =K M = Na
6-31G* 6-31+G* 6-31++G** 6-31G* 6-31+G* 6-31++G**
1 0.926 0.976 0.979 0.869 0.977 0.974
0.989 0.999 0.999 0.982 0.996 0.996
2 0.854 0.958 0.964 0.751 0.945 0.935
0.975 0.997 0.996 0.956 0.986 0.986
3 0.838 0.967 0.959 0.647 0.978 0.973
0.971 0.996 0.995 0.927 0.971 0971
4 0.773 0.959 0.952 0.556 0.982 1.029
0.958 0.992 0.990 0.902 0.970 0.955
5 0.734 0.977 0.957 0.531 1.051 1.033
0.950 0.988 0.987 0.895 0.954 0.954
6 0.695 0.977 0.955 0.501 1.078 1.032
0.941 0.986 0.984 0.902 0.955 0.954

80 O Mulliken population, O O natural population



